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ACCOUNTANCY
Full Marks : 100
Pass Marks: 30
Time-: Three hours

The ﬁgures in the margin indicate full marks
, for the questions. ,

No. 1 carries 1 mark each : 158 =

.' Q. No. 2 carries 2 marks ' 1x2= 2
| Q. No. 3 carries 2 marks o 1x2= 2
Q. No. 4 carries 2 marks o L 1x2= 2
i Q. No. 5 carries 2 marks - | ' 1x2= 2
: Q. No. 6 carries 2 marks = . 1x2= 2
: . Q. No. 7 carries 3 marks _‘ _ , 1x3= 3
Q. No. 8 carries 3 marks o 1x3= 3
Q. No. 9 carries 3 marks ' 1x3= 3
Q. No. 10 carries 3 marks ' o +1x3= 3
Q. No. 11 carries 8 marks ‘ 1x3= 3
Q.,No.‘ 12 carries 5 marks :  1x5= 5
Q. No."13, .carries 8 marks . _ 3+2=5
® 'Q. No. 14 damesSmarksl . I v 2+3’= 5.
. - Q. No. 15 carries § marks - 4 . 242+1=5
" Q. No. 16. carries § marks S - 1x5=5
Q. No. 17 carries 5 marks 1x5= 5
Q. No. 18 carries § marks ) 1x5= 5
Q. No. 19 carries 8 marks =~ . . 2+6= 8
* Q. No. 20 carries 8 marks | 1x8="8
-Q. No. 21 carries 8 marks =~ . 1x8= 8
Q. No, 22 carries 8 marks S . 1x8= 8
| | | | Total =100
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(a) Fill in the blanks : 1x4=4
AT T o7 4 8

2. Mention two causes of depreciation. : ' i 2
SRIFIE 70! e a4 |
(i) Assets — Capital =

Fife - T = _ g o | 3. Give two functions of Trial Balance. ' 2

TG e AG 75! SRR Seer 1 |

(i) Recognize all losses, anticipate no

FICEANEE ETFBA (@S 7, SISO ONI A | | \ S ‘
- , _ ; 4. erte two types of source documents. 2
(i) Credit pﬁrchases of goods are recorded in ________. | AR GRGEE W' Bl |
Eq I T i © fifra << = |
; ‘ | . . . S. Write the name of four parties who are interested in Accounting information.
(v eifall* formt ot C RTINS SIS ' - T
i : 2
CPU 7 ™=dfam_ | , o7 w2 2ifS wiez <=l 516! s w B
(b) State whether the following statements are true or false : 1x4=4 -h 6. What is Bills of Exchange ? 5

weTe GrEe CfGEIN @A (7 Suw ol 8 : Rfr «fg &e

(i) Accounting is both a Science and an Art.

7. Mention three features of Petty Cash Book. 3

Pl Ao T2 okl caREy R |

(i) Assets account always show credit balance.

HoifiG {25l e (T hes ’%Cﬁ"ﬁml @ ® , or / 9t
ves . . - f‘ the Com .
(i) Accounting software is an integral part o puterised et Ao i :

Accounting system.

fEpIorreT A TACHRgS fRbIsEe SleleTly O BIAe SR | Gicme w2

(iv) Salary outstanding account show debit balance. - ; 8. Distinguish between Bills of Exchange and Promissory Note:. 3
e : Sk |
TR S (SR Oe (R | Rl o afoufs am e 2= sk fa
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Or / Je4]

What is di_shondur of a bill ?
& eopi fee
9. What is Capital Expenditure ?
e A3 B e
Or / 9241
Write three objectives of preparing Trading Account.

mﬁmfmﬂmw@ﬁﬁmﬁm{

© 10. What is incomplete record ? Give two reasons for incomplete record.

1+2=3

ol wR gfeceT & ge e weriel wew 707 PiEet el
Or /- G241
Mention three disadvantages of single entry system.

G 2/ smhed foor sEfaal Fl

11. Mention three limitations of computer.

feEsRA fofnr SPyfdl e

Or/W‘u’f'ﬁf‘

What do you mean by Database Management system ?

‘Database Management (warfefes =ifapiae) SIS eI & qui?

12. Explain briefly the qualitative characterstics of Accounting Information.

5ol O woste @FERITEE TI 4 |

19E ACOU (4]

13.

14.

115

19E ACOU [15)]

Or / 9=

What is Accounting ? What are the objectives of Accounting ? S
fepieifRvy ¢ RoieRwE SoaiE@e & = e
What is Accounting Standards ? State its importance

ﬁmﬂﬁmmwmm%ﬂbaﬁamsﬁm%ﬂwr
Or / g2

2H3=8

What do you mean by the basic assumption of Accounting ? Explain the
money measurement concept. 3+2=5

feot=ifRmiE el e < e 2 wmwwmq‘maﬂmw|

Define Ledger. Explain the importance of ledger in recording of business..
| f 2+3=5
Jfoaimg FeE 3 | GRS WAEE FiRE s<re fomms '

Or/@?faT

g =G <41

Record the followmg transactions in a Sales Journal : (T (GraNe oo e RUED
Rt wawre @ E 1) 4 5

Jan 1 : Sold on credit to Mr. Ram, Guwahati 40 chairs @ Rs 100 each.
Jan 10 : Sold on credit to Mr. Amrit, Jorhat 10 tables @ Rs 500 each.
Jan 30 : Sold in cash to Mr. Joy, Tinsukia 10 tables @ Rs. 400 each.
Jan 1 . wqzo INE 80 47 5 UfU® Soo GHTE Ae el 9 24 |

Jan 10 : (@FE09 ST S0 A (5FF #fOATw ¢oo THitE aIe [l 9 T4 |
Jan 30 : SRpFIIR GFF 0 U (531 UfST® 8oo Gl 9w Kee! ol 251 |

Pass Journal entries to rectify the errors :

RS o wi&aE A Sl AkE T

2+2+1=5

()  Goods worth Rs. 500 taken by the proprietor for his personal use but
not recorded in the books of accounts.

TR SRARIE €oo T AW Teore e wizay w[ies {5l BoieN 95 =5
(= %
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16.

k7

18.

(ii) Cash sales to Ram of Rs 209 was recorded as Rs 909.
S 75 RED 200 TFR ARRES Ffom 28 sos Tl
(iii) Sales Return for Rs 600 not recorded in the books.

T Trees  voo 59 f2pi7R I3 feifeea <91 w24 |

Or / 921

- Explain five errors which are not disclosed by a Trial Balance ? 5

76 femel@s 4&l (AeR R A/5/Ry Bel TR 4 :

On 1St May 2018, Akash drew a bill of Rs 15,000 on Bikash for two months.

~ On 10% June 2018, Akash endorsed the bill in favour of his creditor

Prakash. On due date the bill was dishonoured. Pass Journal entries in the
books of Akash. ' 5

s05t BE S (X SRt S R evgo 3,000 TE 72 W2F G4 eT SRS SRee |
205 B S0 GACS SR ek (0S5 AN e FACE TG IC | (7 Fetisie
Seee ASE TE | SN F2re Giam ARk |

Or / \'97?/37
Explain five differences between Bills of Exchange and Cheque.

R+ ol 4AI0HE Sers 2= 2A0) A ol

Give five distinctions between Balance Sheet and Trial Balance. 5

Tge #lq T Tge fE 2as e Aibsl 2oy Wl |

Or / 91

Give five distinctions between Statement of Affairs and Balance Sheet. 5

wifels TzE e i ©ge «ad Tigd SAinol A1 Sl
7

Give various advantages of computerised accounting sy stem over the manual

system. S

WWWW%WqW%HﬁW%ml
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|

Or / 924

What is the role of computers in Accounting ? Discuss the advantages of
using computers in accounting. 5

fepisifamie SEACHRE SRl (T 2 RolsRmIS SITo e e 3@ 1 |

19. What is Bank ‘Reconciliation Statement ? Explain the purpose of preparing
such a statement. 2+6=8
R e 9o e & 380 @3 fresst [R9fS e =9 S REw i<l <11

' ' Or / 94
Prepare a Three Column Cash Book with the following transactions :. 8
fsfRe vy TRE 2R R $83e 937 F57% 93] ows 4 2
2018
April 1 Started business with Cash Rs. 25,000
5 BHICT TN S8 T[T — 3¢,000 5F
April 2 Deposited Cash into Bank Rs. 10,000
@sFo ol 3l 281 — So,000 Tl
April 3 Bought goods by Cheque Rs. 150
(TR 2] [l 261 — S0 bl
April 4 Received cheque from Ram Rs. 500
Allowed him discount — Rs. 25
IR F{ BT R T — €oo T -
(ods ATl TH — e T
April 12 Paid into Bank Cash - Rs. 300
'Paid into Bank Ram’s cheque Rs. 500
@S TR Sl Tl TE — woo T
[T I GF T W@ T — oo B
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April 20 Paid Hari by -cheque Rs. 545 ' ; Cash received from debtors . Rs. 47,0Q0

‘Discount Received Rs 5 | _ - _ AR o= Fem e
2T o3 MEl T — e8¢ 5 ‘ |

Discount allowed to debtors ; Rs. 2,300
JIGH CoAll T — ‘€ G
‘ (IS 1B 2l
April 25 Drew from Bank for office use Rs. 200 _ o
i el 1 ceive
‘ RGN <954 A @ 1 O] 4 T — 00 b Bills receivable re , Rs. 8,000
April 30 Paid wages in Cash Rs. 400. : _mgﬁ ﬁF{.EﬁT@
' - ri f
oM BRI TG @ £ — 800 TR | | ‘ Bad debt written of} Rs. 900
-- ; SRR W AW TE 2 -
20. Distinguish between Provision and Reserve. _ 8 Bad debt récovererd Rs. 1,200
SR Gz Wi AR Afew oo 2y @ | SIS Al 27 SRl
: .' I‘ . : <
| Return inward Rs. 600
Or / 924 .
| e ferae
Kamal Traders purchased a machinery on 15t April, 2015 for Rs. 23,000 and | Bills receivable dishonoured . Rs. 1,800
spent Rs. ’2,000 on its installation. It was decided .to depreciate thew A  afjsy Fm 2O {

3 : :1inishing balance method. : '
machinery at 20% every year according to diminishing MG Bills receivable discounted . Rsi 15500
Prepare the machinery account from April, 2015 to March, ana snow , :
profit or loss if the machinery is sold on 315t March, 2018 for Rs. 10,8005; A=Y ﬁa JGFe 1 24
The accounts are closed on 31t March every year. 4 . Cash sales ' Rs. 36,340

| (TOIE 205¢ BE S GfRETS Bl GifRd 19,000 Gle R S WE IR W . ‘ ol
2,000 Tl <9 TR | T2 20% TS TG Ao SREH A FCE 77 =) g ,
Balance of debtors on 31.12.2017 — Rs. & {7420

305 B <2 5[] 305 HE AL AN BRrl dES F UFE FRD! 2050 5 o o

O3 BT S0roo TFre T TS B A Al (FH T5 [ w1 &S @ oy oo 31.12.2017 SRS WM AR

fzbtet At =3 .
: Or / 923!
1. From the followi i t of total sales: 8 ) :
% R TR dasce A el ol ‘ What do you understand by single entry system ? Mention six points of
oeTo [l ST o Iy G e Fem e : difference between single-entry system and double-entry system. 2+6=8
4760
Balance of debtors on 1.1.2017 : | Rs ’ | @ AR oo e 6 3ot @« 27 sahe, S fa AR smafes Mo 2o e Srme
1.1.2017 SifF¥® (mieg =if{=ie 4 |
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: Adjustment : JCIGH 3
22. The following Trial Balance is extracted from the books of Mr. Hazarika as : :
OnNSIRSID OIESH Stock on 31.3.2018 was Rs. 5,750

weTo i@l 31.3.2018 Ba e A3 JE<R <R 21 (Tl (2 ©3.09,.305b AN TGO &) €3¢0 5
Debit = ST NP - ‘ o | gxie.,g:.azrglg-rading A/c, Profit and Los§ A/c and a Balance Sheet as og
gun;;;ture 640 ;jﬁagtal | 12,500 205% TR 93 TIE IR S 171 2B e Botets ST i o St

: ' s qES 4 |

Motor Vehicle | 6,250 Provision for Bad Debts 200
R SRR %l
Building 7,500 Sundry Creditors 2,500
SR AR sAreamE
Bad debts ' 1125 Sales 15,450
SIS el Rl ® O
Sundry Debtors 3,800 ~ Bank Loan 2,850
R oAmE ¥ @ A4
Stock : 3,460 Purchase Return 125
oA Y e
Purchases - 5,475 ~ Commission 37
Sales Return 24010), -
[EEAREEN ,
Advertisement 450 >
= "
Interest 118
Cash in hand 650 @ ® 0
<19 20O Sl
Taxes & Insurance '1,250
=9 oIS
General Expenses 782
ALFe A
Salaries 3,300
EBEY BRI E T

34,000 34,000

TR g 19E ACOU SRl
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